

Bill to:

NATIONWIDE TRANSPORTATION AND DISTRIBUTION SERVICES, LLC

25 E. SPRING VALLEY AVENUE,

Maywood,

NJ,

07607

Invoice Date: 06/26/2024 Invoice #: PRO # 202443

Terms: NET 30 Due Date: 07/26/2024

Date	Customer Ref #	Origin - Destination	Quantity	Rate	Amount
06/24/2024		5718 52ND STREET, KENOSHA WI 53144 - 1621 STATE HWY 75 NORTH, HUNTSVILLE TX 77320			
			1	\$2,600.00	\$2,600.00

7	ľ	T	'Δ	T

\$2,600.00

PLEASE NOTE

The right to payment under this invoice has been assigned to Compass payment Solutions LLC (CFS) and all payments hereunder are to be directed to the assignee at the address noted below. Remittances to other than CFS do not constitute payment of this invoice. CFS must be given notification of any claims, agreements or merchandise returns which would affect the payment of all or part of this Invoice on the due date.

COMPASS FUNDING SOLUTIONS LLC P.O.BOX 205154

DALLAS, TX 75320-5154

Tel: 844-899-8092

Rate Confirmation

06/24/24 11:25:50



NATIONWIDE TRANSPORTATION AND LOGISTICS SERVICES, INC. P. O. BOX 3190 SHAWNEE KS 66203

CHARLENE LEWIS R (913) 888-1685 0 (913) 888-1686 (f) М charlene@nationwidetransportation.com C ROYAL3 INC Α (630) 485-7370 (p) Att: JACKX106 R (630) 485-6980 (f) R MC# 944686 Truck # 708 DOT 2828543 Trailer # w9792 Ε

Miles:

Size & Type:

53' VAN

Description: COLOMBIA COFFEE

Cell# (470) 652-0299

Pieces: 4320

Weight: 35000

1098

Blind Shipment

Seals Required

Driver WILLIAM/

CHARGES LINE HAUL RATE	2600.00	DISPATCH NOTES Double blind shipment - under no CONDITION DELIVER WITH SHIPPERS, PAPERWORK. I WILL EMAIL YOU BOL # 202443.VAN 53 SWING DOOR FOOD GRADE CLEAN ,DRY HOLES, NO ODOR, CLEAN FLOOR. DRIVER MUST SEND me when loaded.picture of freight loaded/ min 3 straps, screenshot of bol confirming 4320cs/carrier cannot leave dock until I give the ok
TOTAL RATE	2600.00	

PICK 1

H BROCH

5718 52ND STREET KENOSHA WI 53144

Phone/Contact: (816) 394-1318 CHARLENE LEWIS

Appointment 06/24/24 @ 10:00

Appt Notes: BLIND READ ALL NOTE

Seal #

Ref # RP0061824CCR-2

STOP 1

TDCJ E & R COMMISSARY 1621 STATE HWY 75 NORTH (NO CONTRABAND

HUNTSVILLE TX 77320 Hours: 0630-1200

Phone/Contact: (936) 437-4000 RECEIVING

Appointment 06/26/24 @ 10:30

Seal #

Ref # EC088038

PLEASE FAX P.O.D. TO (913) 888-1686 WITHIN 48 HOURS OF SHIPMENT DELIVERY ATTENTION CARRIER DISPATCH:

DO NOT USE any drivers on this shipment who lack required DOT hours. DRIVER must immediately call 913-888-1685 when loaded or unloaded.

Carrier agrees to be bound to Shipper by all terms and conditions of any shipper agreement applicable to this shipment, as though Carrier is a signator to such Agreement. Do not pay or exchange pallets without authority.

Assignment of Shipment is pursuant to Continuing Broker-Motor Carrier Agreement or Broker-Carrier Contract Agreement and is incorporated by reference to become a part of that Agreement. Rate shown above is agreed rate on this shipment for ALL CARRIER CHARGES, including fuel, stop-offs, loading and unloading, and any other surcharges or accessorial charges. NATIONWIDE TRANSPORTATION AND LOGISTICS SERVICES, INC. IS NOT RESPONSIBLE FOR DETENTION; no detention charges will be paid or applicable unless specified herein in advance of freight movement. If original Bill of Lading is not clearly signed as "Shipper Load and Count" or "SL&C" by consignor or shipper, the carrier assumes full responsibility for all cargo overages, shortages and/or cargo damages, regardless of the seal condition at the time of any delivery. Carrier assumes all liability for any cargo refused by consignee due to broken seals.

(Rate Confirmation Details on Next Page)

Carrier Signature	Date /	'	/
Barrior eignature	<u></u>		

Rate Confirmation

06/24/24 11:25:50 (EST)



NATIONWIDE TRANSPORTATION AND LOGISTICS SERVICES, INC. P. O. BOX 3190 SHAWNEE KS 66203

F R O	(913)	ENE LEWIS 888-1685 888-1686	(f)					
М	· ·	ene@natior		etran	sportat	ion.co	om	
C A R R	ROYAL: (630) (630)	3 INC 485-7370 485-6980	(p)	Att:	JACKX1	06		
I E R	MC#	944686 2828543 WILLIAM/	(-/		Truck # Trailer # Cell #	W9792	652-0299	

E-Signed: 06/24/2024 10:27 AM CDT

Jack Jarakovíc jack.j@royal3inc.com IP: 37.19.199.140

Sertifi Electronic Signature DocID: 20240624102548079

Doc ID: 20240624102548079 Sertifi Electronic Signature

Lot Number	0520453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0520453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0520453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0520453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0520453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0520453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0605453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0605453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0606453502	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0607453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0607453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)

NOTE: Liability limitation for loss or damage in this shipment may be applicable. See 49 USC Section 14706 (c)(1)(A)&(B)

Shipper Signature & Date

Loaded

Counted By:

Shipper

Shipper

Driver/Pallet(s)
Said to Contain

Driver/Pallet(s)
Said to Contain

Driver/Pieces

Driver/Pieces

Driver/Pieces

Driver

Kenosha 3PI

ate 06/20/2024		Bill of I	Lading		Page 3 of
Royal Pacific Infl 1665 N Pinesview Dr Scottsdale, AZ 85258	nip-To		BOL Number 2024-04140-00 Ship-To PO RP0061824CCR-2		
Kenosha 3PL 5718 52nd St Kenosha, WI 53144	ld From	III То	Carrier: Pick Up by Trailer Number: Seal Number: PRO Number:		
			Freight Collect Charge Terms:		
Special Instructions:					
Lot Number Lot Number	0607453501 0607453501	Lot Quantity Lot Quantity			
Lot Number	0607453501	Lot Quantity	y 72,000 CASE of 24	(1728.000 EA)	
Lot Number	0607453501	Lot Quantity	y 72.000 CASE of 24	(1728.000 EA)	
Lot Number	0607453501	Lot Quantity	y 72,000 CASE of 24	(1728.000 EA)	
Lot Number	0610453501	Lot Quantity	y 72.000 CASE of 24	(1728.000 EA)	
Lot Number	0610453501	Lot Quantit	y 72.000 CASE of 24	(1728.000 EA)	
Lot Number	0610453501	Lot Quantit	y 72.000 CASE of 24	(1728.000 EA)	
Lot Number	0610453501	Lot Quantit	y 72,000 CASE of 24	(1728.000 EA)	
Lot Number	0610453501	Lot Quantit	y 72.000 CASE of 24	(1728.000 EA)	
Lot Number	0610453501	Lot Quantit	72.000 CASE of 24	(1728.000 EA)	
Lot Number	0610453501	Lot Quantit	· OF THE PERSON NAMED IN		
NOTE: Liability limitation f	or loss or damage	in this shipment	may be applicable. See		
Shipper Signature & Da	Los	ided	Counted By: Shipper	Carrier Signature	24/24
This is to certify that the above spin materials are properly classified, pe- marked, and labelled and are in pag-	ad .	hipper	DrivenPallet(s) Said to Contain	plecards. Carrier certified eros information was made and/or	TOO and seed helmed
condition for transportation according applicable regulations of the DOT.	g to the	river	Driver/Pleces	emergency response guidebo documentation in the vehicle, store is received in good orde	Property described

Kenosha 3PL

Date 06/20/2024		Bill of	Lading	Page 5 of 6
Royal Pacific Intl 7665 N Pinesview Dr Scottsdale, AZ 85258	nip-To		BOL Number 2024-04140-00 Ship-To PO RP0061824CCR-2	
Kenosha 3PL 5718 52nd St Kenosha, WI 53144 Third Party Fre	ld From ight Charge	s Bill To	Carrier: Pick Up by Trailer Number: Seal Number: PRO Number:	
			Freight Collect Charge Terms:	
Special Instructions:				
Lot Number Lot Number	0611453501 0611453501	Lot Quanti		
Lot Number	0611453501	Lot Quanti	ty 72.000 CASE of 2	4 (1728.000 EA)
Lot Number	0611453501	Lot Quanti	ty 72.000 CASE of 2	4 (1728,000 EA)
Lot Number	0611453501	Lot Quanti	72.000 CASE of 2	4 (1728,000 EA)
Lot Number	0611453501	Lot Quanti	ty 72.000 CASE of 2	4 (1728.000 EA)
Lot Number	0611453501	Lot Quanti	ty 72.000 CASE of 2	4 (1728.000 EA)
Lot Number	0611453501	Lot Quanti	72.000 CASE of 24	4 (1728.000 EA)
Lot Number	0611453501	Lot Quanti	ty 72.000 CASE of 24	4 (1728.000 EA)
Lot Number	0611453501	Lot Quanti	ty 72.000 CASE of 24	4 (1728.000 EA)
Lot Number	0611453501	Lot Quanti	ty 72.000 CASE of 24	4 (1728.000 EA)
Lot Number	0611453501	Lot Quanti		
		age in this shipment		49 USC Section 14706 (c)(1)(A)&(B)
Shipper Signature & Da	to	Loaded	Counted By: Shipper	Carrier Signature & Date:
This is to certify that the above name materials are properly dissolfed, parameter, and introduced and are in proportion for introsportation according applicable regulations of the COT.	ckaged,	Shipper Oriver	Driver/Pallet(s) Said to Contain Driver/Pieces	Conter asknowledges receipt packages and required placerist. Center certified emergency response information was made angler center has the DOT emergency response pulledecies or equivalent documentation in the venicle. Property described above is received in good order, except as noted.

Kenosha 3PL

ate 06/20/2024		Bill of I	Lading	Page 6
Royal Pacific Intl 1665 N Pinesview Dr Scottsdale, AZ 85258	hip-To		BOL Number 2024-04140-00 Ship-To PO RP0061824CCR-2	
Sol Kenosha 3PL 5718 52nd St Kenosha, WI 53144 Third Party Frei	ld From ight Charges I	ВіІІ То	Carrier: Pick Up by Trailer Number: Seal Number: PRO Number: Freight Collect Charge	
Special Instructions:			Terms:	
Lot Number	0611453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0612453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0612453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0612453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0612453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0612453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0612453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0612453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lot Number	0612453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Total Qty of Packages				
NOTE: Liability limitation for Shipper Signature & Date		in this shipment m	ay be applicable. See 4	9 USC Section 14706 (c)(1)(A)&(B) Carrier Signature & Date:

Shipper

Driver

	Ker	nosha 3PL		
Date 05/20/2024	Bill o	f Lading		Page 1 of 6
Ship-		BOL Number		
Royal Pacific Ind		2024-04140-00		
7665 N Pinesview Dr		Ship-To PO		
Scottsdale, AZ 85258		RP0061824CCR-	2	
Sold Fi	rom	Carrier: RA	n 3	
Kenosha 3PL 5718 52nd St		Pick Up by	9112	
Kenosha, WI 53144			:97972	
		Seal Number	44404	
Third Party Freight	Charges Bill To	Seal Number: PRO Number:	7645119	
	The second second second	PRO Number.		
		Freight Collect Charge Terms:	4	
Special Instructions:				
Order Number		Order Information	Harris - Total	
	ckages Weight (LB		dditional Shipper Infor	rmation
Customer PO Number / Invoice 024-04140-00	Number 29155	(Circle One)		
RP0061824CCR-2 / 2404140	29133			
Grand Total:		Shipping weight in-	dudes packing material we	-
	Carrier		soors packing material we	ignt
Handling Unit Package	Garrier	Information	Marine St. Lat.	
QTY Type QTY Ty	pe Weight HM Comm	modity Description, Lot N	humber Customer Code	LTL Only
	Freeze Dry Instant Coffee	-		NMFC No.Class
st Part Number 091239		60 pallo	4,320,000 CASE of 24	0.000 CASE of 24
Lot Number 0517	453501 Lot Quant	tity 72.000 CASE of 2	24 (1728.000 EA)	
	200		and the same of th	
Lot Number 0517	453501 Lot Quant	ity 72,000 CASE of 2	24 (1728.000 EA)	
Lot Number 05174	53501 Lot Quant	ity 72.000 CASE of 2	4 (1728.000 EA)	
Lot Number 05204	53501 Lot Quanti	ity 72.000 CASE of 2	4 (1728.000 EA)	
Lot Number 05204	53501 Lot Quanti	ity 72,000 CASE of 2	4 (1728.000 EA)	
NOTE: Liability limitation for loss of	r damage in this shipment)(1)(A)&(B)
Shipper Signature & Date	Loaged	Counted By:	Carrier, Signature &	
ON 6-24.	A THE REAL PROPERTY AND ADDRESS OF THE PARTY A	Shipper	XWilliam 6	24-24
This is to certify that the above named materials are properly classified, peckaged, marked, and lateled and are in proper	Shipper	Driver/Pollet(s) Said to Contain	Center acknowledges receipt pa- piaconds. Center certified emerg- information was made anothr ce-	BUILD TREEDWINE
condition for transportation according to the applicable regulations of the DOT.	Driver	Driver/Pieces	emergency response guidebook documentation in the vehicle. Pro above is received in good order,	Of equivalent
applicable regulations of the DOT.	Driver	Driver/Pieces	documentation in the vehicle. Pro above is received in good order,	except as noted.

Kenosha 3PL

		Kellosi	Id of L	-
Date 06/20/2024		Bill of L	ading	Page 4 of 6
Royal Pacific Intl 7665 N Pinesview Dr Scottsdale, AZ 85258	nip-To		BOL Number 2024-04140-00 Ship-To PO RP0061824CCR-2	
Kenosha 3PL 5718 52nd St Kenosha, WI 53144 Third Party Fre	d From ight Charges B	ill To	Carrier: Pick Up by Trailer Number: Seal Number: PRO Number: Freight Collect Charge Terms:	
Special Instructions:				
Lot Number	0610453501	Lot Quantity	72.000 CASE of 24 (1728.000 EA)	
Lot Number	0610453501	Lot Quantity	72.000 CASE of 24 (1728.000 EA)	
Lot Number	0610453501	Lot Quantity	72.000 CASE of 24 (1728.000 EA)	
Lot Number	0610453501	Lot Quantity	72.000 CASE of 24 (1728.000 EA)	

NOTE: Link	ollity limitation	for loss or damage	in this shipment may	be applicable. See 4	9 USC Section 14706 (c)(1)(A)&(B)
L	ot Number	0611453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
L	ot Number	0611453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
L	ot Number	0611453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
L	ot Number	0610453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)
Lo	ot Number	0610453501	Lot Quantity	72.000 CASE of 24	(1728.000 EA)

Lot Quantity

0610453501

0610453501

Lot Number

Lot Number

NOTE: Liability limitation for loss or o		1 1 1 1 1 1 1 1 1	Carrier Signature & Date:
Shipper Signature & Date	Loaded	Counted By: Shipper	1
This is to certify that the above named materials are properly classified, packaged, marked, and labeled and are in proper condition for transportation according to the applicable regulations of the DOT.	Shipper	Driver/Pallet(s) Said to Contain Driver/Pieces	Center acknowledges receipt packages and required placends. Clamber certified emergency response information was made and/or center has the DOT emergency response guidebook or equivalent documentation in the verticle. Property described above is received in good order, except as noted.

72,000 CASE of 24 (1728,000 EA)

Lot Quantity 72.000 CASE of 24 (1728.000 EA)

Bill Of Lading - Short Form - Not Negotiable **BOL Number:** 202443 Ship From ROYAL PACIFIC INTERNAT Pro # : 202443 PO BOX 6277 Ship Date : 06/24/24 Cust Ref # : EC088038 PU Ref # SCOTTSDALE AZ 85261 : RP0061824CCR-2 Del Ref # (816) 394-1318 CHARLENE LEWIS : EC088038 Del Appt Carrier : 06/26/24 10:30 : ROYAL3 INC Ship To Carrier Prof: WILLIAM/ TOCU E & R COMMISSARY 1621 STATE HWY 75 NORTH References (NO CONTRABAND EC088038 HUNTSVILLE TX 77320 (936) 437-4000 RECEIVING RP0061824CCR-2 Bill To NATIONWIDE TRANSPORTATION AND LOGISTICS SERVICES, INC. P. O. BOX 3190 SHAWNEE KS 66203 Special Instructions: Freight Terms: 3rd Party THE ROYAL PACIFIC TEA CO * 4320 CS COLOMBIAN COFFEE*60 PALLETS*72CS PER PALLET* GOVERNMENT DELIVERY* NO CONTRABAND*SUBJECT TO SEARCH* SEAL # 46451119 Wgt HM Item Description CIS NMFC # QTY PKG COLCHBIA COFFEE *Mark with an X to designate hazordous materials as defined in title 49 of the code of Federal Regulations. Haz Mal emergency Conlact Fee Terms: Collect Check Acceptable Note: Liability limitation for loss or damage in this shipment may be applicable. See 49 USC 14706(c)(1)(A) and (B) For Freight Collect Shipments: if this shipment is to be delivered to the consignee, without recourse Freight Counted: on the consignor, the consignor shall sign the following statement. By Shipper By Shipper The carrier may decline to make delivery of this shipment without By Driver By Driver payment of freight and all other lawful charges. Carrier Signature / Date Signature of Consignori Carrier acknowledges receipt of packages and required placards. Shipper Signature / Date Carrier certifies emergency response information was made available This is to certify that the above named materials are properly classified and/or carrier has the DOT emergency response guidebook or packaged, marked and labeled, and are in proper condition for equivalent documentation in the vehicle. Property described transportation according to the applicable regulations of the DOT above is received in good order, except as noted Signature of Shipper: Consignee/Receiver Signature / Date This is to certify hat the above named materials, were received in apparent good arder (except as noted). Signature of Coolinee: